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Instructions for the Candidates
Write your Hall Ticket Number in the space provided on the top
of this page.
This paper consists of seventy five multiple-choice type of
questions.
At the commencement of examination, the question booklet will
be given to you. In the first 5 minutes, you are requestedto open
the booklet and compulsorily examine it as below :

(i) Tohave access to the Question Booklet, tear off the paper
seal on the edge of this cover page. Do not accept a booklet
without sticker-seal and do not accept an open booklet.
Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5minutes. Afterwards, neither the Question Booklet
will be replaced nor any extratime will be given.

After this verification is over, the Test Booklet Number
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1. Inwhich one of the following does the term
“Second Urbanization” in Ancient India
refers to the urban processes ?

(A) Indus Valley
(B) Gangetic Valley
(C) Narmada Valley
(D) Kaveri Valley
2. The inscription from Nanaghat, Nasik and

Sanchi refer to which one of the following
ruling families ?

(A) Kanvas
(B) Satavahanas
(C) Mitras
(D) Chedis
3. Which of the following temples has been
carried out of the solid rock ?
(A) Jain temple at Mount Abu
(B) Kailasanath temple at Ellora

(C) Kandariya Mahadev temple at
Khajuraho

(D) Sun temple at Konark
4. Who among the following was the first to

have studied and discovered the
manuscript of Kautilya’s Arthashastra ?

(A) K.AN. Sastri
(B) B.K. Thapar
(C) R. Sharma Sastri

(D) James Fergusson

1. 208 T%38° 9 Besk0 $ibESes (E5008 o
PO GTSE508” VoSS DESEI T Do ?
(A) 20 S*abHd
(B) rroreds S'amd
(C) 26,5 &an
(D) 5536 &’aH

2. T0es, Tk B080 ol THRTed” 52 ($0d
D T°es 600200 K802 BB ?

(A) e
(C) o

(B) 78075570
(D) %o
3. 305 DEYX O DTroaiTes GHERH T 906
282308 ?
(A) 3305 @end™d S Toreako
(B) 6 3ok Groao
(C) 2e25:5°6° 08k $o50S Boreako
(D) E'erb),&™ wortsg Baroabo
4. 200 T0S° IEL3TON TeIoogt ©FgTRo
THBEE S50 01000 DRHE A5 ?
(A) 3.2.23. 7
(B) 3.6
(C) «b.55,7y

(D) 855505
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5. Which one of the following was taken as
a Prisoner by Hyder Ali ?

(A) Braithwaithe
(B) Eyre Coot
(C) Malcom
(D) Baillie
6. The King responsible for the starting of
‘Saka Era’ was
(A) Chandra Gupta Vikramaditya
(B) Asoka
(C) Samudra Gupta
(D) Kanishka
7. In which one of the following ancient

literary works a separate section of
painting is found ?

(A) Panchasiddantika

(B) Vishnudharmottara Purana
(C) Panchatantra

(D) Natyashastra

8. During Later Vedic Period

I) The King gave importance to Sabha
and Samithi.

Il) The King was banned by Sabha and
Samithi.

lIl) Sabha and the Samithi were rarely
heard during this period.

IV) Sabha and Samiti admitted women.

Choose the correct answer from the codes
given below :

Codes :
(A) 1l 1and IV B) I, llandlll
(C) Only IV (D) Only Il

5. 53200 T0E° 290 2resd ed PO Dress 2
(A) Gaxndaond
(B) 20b5e5
(C) srep0
(D) &od
6. 53 aborio rofoutRS ereoged Toer
(A) Bos My ASSTaSS
(B) @5’
(C) 25300(¢5 Moesd
(D) 559,66
7. IO 087K @IS IS ogred” Ba" D
BPeL 50200805 @é5§ DeTHE0E 2
(A) Ko ?ozjqjo@§
(B) 23658588 9over
(C) Soto
(D) =@y

8. DTS TPood’

) DTS P08 Tres 1387 K805 SO
TR0 FINED
1) 57 DAL Toerd0 JaaoTaw

1) 55 s2008° $Soe, BAWEe HHOOY SIS
DOLTR0

IV) 3877, 220800 Qi DB
Soioeen

(A) 11, 111508050 IV

(B) I, ll508axs 1
(C) IV 3G
(D) 111550

A-13-03|




9. Consider the following statement, “Rise of
Magadha to imperial power was mainly
dueto its”

[) Position of strategic importance
surrounded by fire wells.

Il) Position in a richly fertile zone and
good communication channel.

[I) Aggressive imperial policy of the rulers.
IV) Association with the activities of
Mahatma Buddha.

Choose the correct answer from the codes
below :

Codes :

(A) landll

(B) I, 1lland Il

(©) I, lltand IV

(D) All the above

10. Consider the following pairs :

[) Parsavanatha Nirgrantha
ll) Goshala Maskariputra  Ajivika
) Ajitha Keshakambalin ~ Buddhist
IV) Shankara Visista
Adwaitha
Which of the pairs above are correctly

matched ?
Choose answer from the codes given below :

Codes :
(A) lonly (B) land i
(C) lland 1l (D) llland IV

9. 52 208 575050 DONEZ0B0R [SONE af
TRETes0T ASNERS ETEHES S0

1) 5oe155,0 $0830% T’ eherpeso SO
&OC0

) 2000 SSrTeS Qg0 [0k TEHOBRD
oo EON &odiero

lll) oo SR T RS IgTre

IV) 2006500 SOl o Sow0go SON ¢otieo
08 VoS TOIOVBIhoD VORI

BRFEOR NS od

Sodores

(A) 1508050 1
(B) 1, 150805 111
(C) 1, 155805 IV
(D) 2%
10. $0b 235085 H0KeS S Bios’od
1) °6 5965 - DBwio

) A%ro 500,09 - @y

lll) 222535502000 - 208y
IV) %056 - DBJTS
8 87,0 73" D DO BB does

=D DOETO IO ANET0K0.

Sosoves

(A) 13S0
(B) 15083011
(C) NS08 I

(D) 11508050 IV
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11. Consider the following statement 11. SobTs7g) BONEIowoc

) Gautamiputra Satakarni defeated ) FBDo)S T-BE0 S5 ed Suom D
Nahapana i
9 i o2
Il) Vasistiputra Sri Pulumavi was ) SHJDG BDOITI SAGEHHD DSE’
defeated by Rudradaman BLCPONeD

lIl) YagnaSree Satakarni styled himself
as ‘Ekabrahamana’

IV) Pulikesi Il was killed by Harsha

lll) oE@ THSY 83 oo IerirEs wd
DI PETE

) ) V) Bocss 9933 552800 1500e5°¢0
Which of the statements given above are > ©

correct ? Ao -
Select the correct answer from the codes
given below : (A) 1506050 I
Codes : (B) 11 558050 IV
(A) tandll (©) 1, 1 508030 IV
B) Iland IV
() Han (D) Zogbb&
© ILhand IV

( \/
(D) All the above 12, 28 D060 &3 ?

(A) 200RKS - TOCES @

12. Which is the correct matching pair ? (B) axoesihs — 555 e

(A) Rigveda Tandav Brahman (C) F555¢50 - A% e
(B) Yajurveda Satapath Brahmana (D) 56585582 DS - HOBAB @
(C) Samaveda Gopath Brahmana

_ 13. 0873 w3B8Y06%
(D) Atharvanveda  Panch Vimash

Brahmana RISV TO Ty
13. Match the following : a) 0ol 1) =0
Tinias Their Gods b) mg 2) Bao5niS
a) Kurenchi 1) Kali 0) H0theo 3) 200
b) Mullai 2) Murugan a4 > A) Ssss
9)
¢) Murudam 3) Indra ) T )
d) Palai 4) Tirunal Sedores
Codes : a b c d
a b ¢ d A 3 4 1 2
A 3 4 1 2
B) 1 3 4 2
B) 1 3 4 2
© 2 4 3 1 © 2 4 3 1
(D) 4 2 3 1 (D) 4 2 3 1

- 6 A-13-03]




14. Matchthe List —Ilwith List —Iland select the

correct answer from the codes given below :

14. 3351 8 35— 1l 5 208350 BIHN g0 SosTre

0P OG0 R JowoS o

List—1 List—1I
B3y — | B3 -1l
A) Dipavamsa 1. Killed the
Bruhadhrutha A) &5%0% 1. e
B) Dhananandudu 2. Simhala Dod¢o
Buddhist work B) &&5850830¢0 2. 205 e5°Gog0o
C) Upagupta 3. Last Nanda C) &3 3. 08 HDocs Toe
King
_ _ D) g0 4, 3¢ QTR0
D) Pushyamitra 4. Buddhist ©
scholar Bosoves
Codes : A B C D
A B C D A 2 3 4 1
w2 3 4 1 ® 3 2 1 4
® s 2 1 4 © 4 3 2 1
© 4 3 2 1 ® 2 1 3 4
) 2 1 3 4
15. 538 — | £ oo $g% — 1| 8 T557es
15. Matc_:h th(? L_|st—lof rulers with List — Il of 590y BB 329 “odore oD B0
the inscriptions and choose the correct _ =
answer from those given below : ST JnS ot
List—1 List—1I S| SeE -l
a) Samudra Gupta 1. Mehrauli Iron a) DD 1. JIo0579 esayoy
Pillar R0
b) Rudradaman 2. Junagarh ) SOESEsE08¢8 2. ook
c) Kharavela 3. Allahabad C) TSR 3. eos%rd o
Pillar d) ore S0l 4, SSHoP
d) King Chandra 4. Hathi Gumpha (D930er8S)
(Elephant Cave) “hores -
Codes :
a b c d a b c d
@ 1 2 3 4 A 1 2 3 4
® 3 1 2 4 ® s 1 2 4
(C) 3 2 4 1 <€ 3 2 4 1
(D) 1 2 4 3 D) 1 2 4 3
- 7 A-13-03]




16.

17.

What is the correct chronological order of
the following ?

1) The Periplus of the Erythrea Sea
2) Cosmos Indiko Pleustes

3) Geography of Ptolemy

4) Indica of Magesthenese

Select the correct answer from the codes
given below :

Codes :

A 1 2 3 4

B 1 3 4 2

) 4 1 3 2

G 3 4 1 2

Arrange the following works in

chronological order :
1. Sakuntala

2. Arthasastra

3. Harshacharitra
4. The Epics

5. The Vedas

Select the correct answer from the codes
given below :

16.

17.

208 T3E" 50 9000 ERTRONS Be3 DO 2
1) 62090 eh BHOHS &
2) =R R0GT° I OO0
3) et esB ol
4) FoK3S oY), gods®

BIOD ZYS DOSTO THT® HOGD DRI
QoeDotiods

Bodoren

A 1 2 3
® 1 3 4
© 4 1 3

N NN DS

@O 3 4 1

808 T30 EXTL0NS BedS” D67 B0d

1. 7508000

2. 8770
@ =7

3. ToRoE

4. HoreTen

5. doreo

BIOD ZOY DOSTRO TO° DO DR
Qoo

Codes : Sedzes
A 4 3 2 5 1 A 4 3 2 5 1
(B) 1 2 4 3 5 B) 1 2 4 3 5
Cc 5 4 2 1 3 C 5 4 2 1 3
) 2 3 5 1 4 ) 2 3 5 1 4
- A-13-03]




18.

19.

Arrange the following Pallava Kings in
correct chronological order

1. Dantivarman

2. Narasimhavarman |
3. Paramesvaravarman |
4,

Nandivarman |
Codes :
(A) 2
B) 2
€ 2
(D) 1

N P B~ W

4
3
3
3

A A R PR

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R) :

. The inner side of the
Megalithic pottery in
South India has black
colour and on the
outer side it has red

Assertion (A)

colour.

Reason (R) : These colours were
painted on the pottery
separately.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) true, but (R) is not a
correct explanation of (A)

(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

18.

19.

DD RS VoD T EITHNS B3
iﬁ"béo&

1. cSo8u5S
2. 000563 SOOI,
3. Doocsed SRS 56,

4. 320853 508 53,

Bodores
A 2
B) 2
Cc 2
1

3
4
1
(D) 2

4
3
3
3

A A R R

B0 287 DTG 25335 550 (A) Dok

Sesereo (R)

QBT (A) &880 eTEB0E0S” LR
2038 SNEeHIG
S 0OETNO SO DD
2RO DT ToROMI
GO0

TSeagirse (R) B P DN B SO
SBgEOT TR

Sodoren

(A) (A) 08010 (R)Booda w70 eoad (R)
(A) C08), B0 I5TE

(B) (A) 08010 (R)Bocoda o eoad (R)
(A) & PBHD A5Te? 5°¢

(C) (A)=50 (R) &5y
(D) (A) sy (R)=50
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20.

21.

22.

23.

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R)

Assertion (A) : There is very little

ritual in Buddhism
except for
individualized
meditative techniques.

Reason (R) : Here it mainly differs

from the Hinduism.
Codes :

(A) both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) (A) and (R) are true, but (R) is not the
correct explanation of (A)

(C) (A)istrue, but (R) is false
(D) (A) is false, but (R) is true

‘Ghata Yantra’ was a

(A) Water lifting device

(B) Wind mill

(C) Weapon used in war

(D) Crop cultivating machine

The officer incharge of ships and labours
during the Mughal period was called
(A) Mir Atish

(B) Mir-i-Ariz

(C) Mir Bahri

(D) Mir-i-Mal

The ‘Darvesh’ ruler of Delhi Sultanate was
(A) Balban

(B) Khut-Buddin Aibak

(C) Altamish

(D) Nasiruddin Mohammed

20.

21.

22.

23.

WY R
B0 07,39 A55eaE .53 VBB 0 (A) Tocssd
sSeresrso (R)

APBTEE (A) 1 SEER0 g REabes
&Y e B SosToken
08" o
TEeErEe (R) 1 83 A0a0Hod’ 38 oy
o8 ST 00
Sodores

(A) (A) 5308000 (R) 3o o750 @00 (R)
(A) G300E); B HTe3

(B) (A) 50800 (R) 3o o750 @900 (R)
(A) & BR0 D58E? 5°¢

(C) (A)=50 (R) &5y
(D) (A) 85y (R) 5050

5508 QDO esdrr
(A) 23 I3 oo
(B) o& &
(C) aXogos = eotagio
(D) N0 s e adoEo

o000 SPe0d FED $o8AK DITOIE SO
Dabodon T O €50

(A) 206 s,

(B) 206-3-0028

(C) 26 axnzb

(D) b-3-578

GO oered” o
(A) ey

(B) 802200 005
(C) edBd0%,

(D) 28 3098

10
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24,

25.

26.

27.

28.

‘Saquiya’ means

(A) The companion

(B) Agricultural tool

(C) Means of ploughing
(D) The Persian wheel
‘Mir Bakshi’ was the Mughal Minister in
charge of

(A) Finances

(B) Dabri System

(C) Mansabdari System
(D) Military

‘Tarafdar’s’ of the Bahamani Kingdom were
(A) Tax Officers

(B) Secretaries

(C) Provincial Governors

(D) Kotwals

Premakhyam refers to
(A) Rekhta

(B) Ghazal

(C) Sufi poetry

(D) Indian rural songs

The ‘Erivirapattana’ in Medieval South
Indian inscriptions referred to

(A) Wartents

(B) Warehouse and distribution centers
(C) Tax collection centers

(D) Check posts

24.

25.

26.

27.

28.

SOOI e

(A) 55580

(B) oot 9500y /F7550
(C) 5oy Begtoes /Sresgared
(D) 50005 B0

ooMeow HooBeod” ‘Wbad B3 erean
(A) g0
(B) &5® g5
(C) Bo0ieieed 5555
(D) w30

255500 Eresg08” ‘BERT L0
(A) 3590 @850

(B) »Eexden

(C) TE M

(D) Sz

@o;@f’gpego DAY BIDVK08 ?
(A) Sgx
(B) somd
(C) % £D850
(D) 5758 [roes RaXren

Doy QN ¢33 gPOB0Y THTE w870
‘BB’ e 2550 B BPRod

(A) Qlbogs BTen

(B) Aiomhoes $o80%n Sodel Tomres

(C) 2o w8Ses Soren

(D) 2§ Pe0

11
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29. The port town where Shivaji stationed his
naval fleet was

(A) Kalyani
(C) Salsette

(B) Kolaba

(D) Bassein

30. Which of the following was not one of the

causes of Marata defeat in the Third Battle
of Panipat ?

(A) Sadashiv Rao’s disregard for other’s
opinions and miscalculated plans

(B) The failure of Maratas to find any allies
among the northern powers

(C) Sadashiv Rao could not maintain his
lines of communication with Delhi

(D) Lack of able leaders and warriors
among the Maratas

31. Arrange the visit of these foreign travellers

in chronological order
[) Nicolo-De-Conti
II) Domingo Paes
lIl) Marco Polo

V) Ibn Battuta

V) Abdul Razak

Select the correct answer from the codes

given below :
Codes :

(A) 11,1V, 1, Vand Il
(B) V, 1L, 11, 1and IV
(C) IV, I, 1, land V
(D) 11, 1,1V, Vandll

29. B &5 TS 5w DD BE Hegeso
(A) soe3 (B) Sorer
(C) v (D) &S

30. Borcas 0ey Aged SoTTe L6208 B
OO TETE’ 283 $HO T

(A) 20°830°E0 B To0 @ TPAITOS
REIOBEPRI¢E0, 000%0 98 B
IOV

(B) &80 5r580E08™) Terpd QoBHoocd
DEYIB08:8" S0TT GI08), PHOSO

(C) 3w8507) GOF eadoed Hopdodes
eEEdco

(D) 50Tl S5oBH Tebe, B
SEES0

31. &N gAY IDY AF@He8 ESTHNS Be3S”
D80
) 8% -E-5°0e3
) =00R® 5ef
) 5652
V) 328 2a¢a5er
V) eend Sers

BID A DOSTO TRT® DO HVRTE0
QoeDotiods

Sodores

(A) 11,1V, 1, Vsosams I

(B) V, I, 11, 1 558050 IV
(©) IV, 1l 1, 1l S080%0 V
D) 111, 1,1V, V 508050 I
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32.

33.

Who among the following Sufi Saints
belong to Chisti order ?

[) Shaikh Hamiduddin Naguri
Il) Khwaja Bagi Billah
1) Qutbuddin Bhaktiar khilji
IV) Shaikh Salim Chisti
V) Hazarat Nizam-uddin Auliya

Select the correct answer from the codes
given below :

Codes :

(A) 111, lland IV
(B) I, 11, 1IVand vV
(©) L1, lllonly

(D) All of them
Noor Jahan’s Junta, apart from herself
consisted of
[) Mahabat Khan
I) Asif Khan
) Prince Khurram
IV) Itimad-ud-Dawla
V) Prince Khusru
Choose the correct answer from the codes
given below :
Codes :
(A) I, and IV only
(B) I, llland V only
(C) I, IV and V only
(D) I, land IV only

32.

33.

B 8,39 K79 508 MHEHHE D TP DO
T A5 2

1) 28 5a0esoS $Kr0

1) argee wdener
) 802008 558016 H
IV) 5580 9%
V) 5e08 DersoodS T

30es ZOYd DoETO T DOAWH VITT0

Tabod.

Sosore

(A) 1,11, 1500005 IV
(B) I, 11, IV 558c%0 V
(©) 1, 1l 5 E8s
(D) 2%

BIGES er0eTS” BRE D &) DT
) S0red g
[N RESRERS)

) @ oo

V) 363557508 Ser

V) @ oo

3085 0 DOSTO eSO DO DRTTT
hlsieiniete

Sodores
(A) 1, N'S5080x0 IV:sJ"@éfb

(B) 1, 111 508050 V 57585
(C) 11, IV 558050 V 55530
(D) 1, 1l 508050 IV 55&30
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34.

What is the ascending order of the
following army officials of the Marathas ?

() Jamaladar
(I Havaldar
(i Paik
(IV) Naik

Choose the correct answer from the codes
given below :

Codes :
(A) (I, (1), (), (V)
(C) (m, (1v), (m, (1)

(8) (), (i, (v1), ()
(D) (1v), (), (1), (1)

34.

BTTD PITHT 0 3557 008" 28 0é
(1) edoerd
(1) erd
() ok
(IV) o8
305 B DOETO TO° HOGD DEPET R0
helsieiniete

Sesores

(A) (), (1), (), (V)
(C) (1), V), (1), (1)

(8) (), (i, (v1), ()
(D) (1v), (thn), (1), (1)

35. Match List — I with List — Il and selectthe | 35. %35 — 1 93— 11 8 Ao 8ot 000
correct answer from the codes given below : SoSErol PR TEIE HO0KeS
List—1 List—II 55— | 55— I
(&) Gangadevi () Scholar in the
court of (a) KO?T"E)Z) (I) @"c;i 350105383
Proudhadeva SVOED
raya QTIGOROT R
(b) Annapurnadevi (Il) Krishnadevaraya’'s (b) @;6&@0%?83) (D) @g@;s@obe &8
mother () ==neror (1) Sogoddesayoo
(c) Nagalamba  (lll) Author of 55000
Madhuravijayam (d) g, (V) etiogs S et
(d) Hannamma (V) Poet in the court 55080 £50200
of Achyuta ®
Devaraya (€) Sty (V) Esonoaneis
(e) Tirumalamma (V) Gajapati Princes SSD:TW&ES
married to Nesi5%oo Oed
Krishnadevaraya
Codes : Selzes
@ () () (@) (e @ () () @ (e
A o av)y (V) A O av) ) (V)
® amp am v O V) B amp am v O V)
<€ O a @ av <€ o a m a) v
O) m @ V) O) (m v W @O V)
- 14 A-13-03]




36.

37.

Match List — I with List — Il and select the
correct answer from the codes given below :

List—1 List—1I

(a) Sikka () Letter of
Investiture

(b) Kutba @) Muslim
theologian

(c) Mansur () Non-believer

(d) Alim (IV) Coin

(e) Kafir (V) Friday prayer

Codes :

(a) (b) () d) (e
A V) (v O ) (m
® o ay am N V)
© vy (v @m0
G O am M av)

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R).

Assertion (A) : Sultana Rajiya was
successful in

administration.

: She received all
support from the side
of the Ulemas

Reason (R)

In the context of the above statements,
which one of the following codes is correct ?
Codes :

(A) (A)is correct, but (R) is wrong

(B) Both (A) and (R) are correct

(C) (A) iswrong, but (R) is correct

(D) Both (A) and (R) are wrong

36.

37.

$63% — 1 D 3535 — 11 8 dpirod espdd) Socs
O DOSTO THO° DOWPS VBT T 0D
1H80H0G

235 — | 225 — Il

(a) =, (I) Aosseo (b
& 353Res0)

(b) wzn (Il) 000 B8

(c) Soxb () eyvsosocd
D0 5 Fdeso

(d) e85 (IV) =30

(e) =25 (V) BEIo 70

Sosoves

(a) (b) () d) (e)

A V) (v O ) (m

® O a @ V)

© vy (v @wm an O

G O W  «v)

IO 287,53 a8’ 2.53 DB)BTE50 (A) Todd
sSeairso (R)

APBTE (A) 1 R0S S0 00T NS
EFAL0,

TUeiToe (R) @ esin efire 0od o
2038 FoTrDd

D TR 002000 2od Hoimes® DO
gp%éé?;gzé 230°) ?
SosTeen

(A) (A)T50 (R) 85y
(B) (A) 508050 (R) B0t 850
(©) (A) 53y (R) 25y

(D) (A) 5801 (R) Boco Sy
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38.

39.

Given below are two statements one
labelled as Assertion (A) and the other
labelled as Reason (R)

Balban’'s efforts
against the Mongols
were effective.

Assertion (A)

Prince Mohammed
lost his life during
Mongol campaign

Reason (R)

In the context of the above two statements
which one of the following codes is correct ?

Codes :

(A) Both (A) and (R) are correct

(B) Both (A) and (R) are not correct
(C) (A) is correct and (R) is wrong
(D) (A)iswrong and (R) is correct

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R).

Assertion (A) Krishnadevaray was
the most prominent
ruler of Vijayanagar
empire.

Reason (R) Krishnadevaray
become most
prominent as he
liberally donated

grants to Brahamanas.

In the context of the above statements,
which one of the following codes is correct ?

Codes :

(A) (A)is correct, but (R) is wrong
(B) Both (A) and (R) are correct
(C) (A) iswrong, but (R) is correct
(D) Both (A) and (R) are wrong

38.

39.

AR A0
IO 28755 Jead 2.3 DB)5E50 (A) Tocssd
SSeeso (R)
VBT (A) SO0RTOOD 5@3§07T°
TS BR0ET) B0
679300 &omo
$00R% 000 >SS
QY00 oe 3501?;50&5
QosedoTed
DO 30e0G00) 808 3380’ DO QB
e ?

SEeagirdo (R)

Besoren

(A) (A) 500050 (R) Bocs 2.9y
(B) (A) 0800w (R) Socir &y
(C) (A) ey (R) &3

(D) (A) &y (R) ey

B0 28755 Jead 2.3 DB)5E50 (A) Tocssd
sSereirso (R)

QBT (A) DesABNS TPrergds
EBsTraten
S50 Troeo
SEeagirdo (R) @R E0080 emrdonT

O 85io09
@‘%’3\356"&%@0 (2S00
3"@§>C§O§7"§C§J

D TGIOBY 5020600 208 HEmed® DO

gp{ibéﬁgzé 230°) ?

Soioees

() (A)esy (R) B3

(B) (A) (R)ocir edy

(©) (A) 53 (R)ey

(D) (A) 5060 (R) Bocir 3y
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40.

41.

42.

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R)

The Third battle of
Panipat decided
conclusively as to
who was to rule India.

Assertion (A)

The defeat of the
Marathas in the Third
battle of Panipat was
a major blow to their
dream of establishing
‘Hindu pad Padshai ?

Reason (R)

In the context of the above two statements,
which one of the following codes is correct ?
Codes :

(A) (A)is correct, but (R) is wrong

(B) Both (A) and (R) are correct

(C) (A)iswrong, but (R) is correct

(D) Both (A) and (R) are wrong
Indianization of civil service was proposed
during the time of
(A) Lord Bentinck
(C) Lord Canning

(B) Lord Minto

(D) Lord Rippon
Which one of the following was the
originally selected venue for the First

Session of the Indian National Congress
in 1885 ?

(A) Madras

(B) Calcutta
(C) Pune

(D) Ahmedabad

40.

41.

42.

B0 287 20088 2,53 DB)EE0 (A) Toedd
sSeirso (R)

DPETEC (A) 1 DHOMT grEBHLTR) I
DOTOOTORE SIS
TS ad0go Hen
K)goaooﬁboé

TSeagirse (R) 30 THE D&

3;%305"@3 S00°T 080

Boress UBHEy oM

2,650 2G5 DPER00
DI 00RO &5 ddmres® VleT N
230°200:0 OOV

Bodoren

(A) (A) 293 (R) &5

(B) (A) 5000505 (R) Bocs 2.9y
(C) (A) 8599 (R) ey

(D) (A) 59005 (R) Dot 89y

S 08508 grEH0KB0 D0 S0
DT BT

(A) &b Boedok

(B) @"é QoS

(C) eb=doh

(D) &b 6mys

1885 5758 2Bk SCORD (RES D50aed
DO D00EIR0C IO HASIOD ?

(A) S0

(B) sosz

©) =

(D) esmorerd
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43.

44,

45,

46.

Who among the following led the Simla
Delegation in 1906 ?

(A) Maulana Mohammad Ali
(B) Muhammad Ali Jinnah
(C) Aga Khan

(D) Hasan Imam

Who raised the slogan “Delhi Chalo ?
(A) Jawaharlal Nehru

(B) Mahatma Gandhi

(C) Subash Chandra Bose

(D) Jinnah

Prime Minister Atlee announced in the

British Parliament that India would be
given independence not later than

(A) August 1947

(B) June 1947

(C) January 1948

(D) June 1948

Sardar Vallabhai Patel is remembered
mainly for

(A) He was a successful Barrister

(B) He was the first speaker of the Lok
Sabha

(C) He was the Deputy Prime Minister of
India

(D) He brought the political unity of India

43. 52 Eod 70671906 & VIT VITFITDS

OG0 BN T QB
(A) 5T 2005 ©d
(B) 200500 e0d e
(C) e ard

(D) 575 55750

44. GO BE° ITT FAOBHD 2

(A) 25580 DT
(B) sosferrod
(C) HogrRbos %0

(D) ==y

45. gro 83708 IgBoB0 NGRS

FRICEBO0ESD 3D I T00e5E” FrrisEnod eed
B&e30mTe

(A) esitsy 1947

(B) 51947

(C) es550 1948

(D) e~5 1948

46. ST6 Sezron DESEDY PTHOT oG

FOE0W0E 0eTEd
(A) e DF00D TELT0
(B) exscso SEdeyRoocsed s
(C) 98585 a7PEHE e

(D) e grstiiod” oresdolh os Q0w
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47. The aim of giving impetus to Panchayat

Raj System in India is
(A) to adopt the system of rolling plan
(B) to decentralize power

(C) todistribute power between the Union

and State
(D) totrain the rural youth for administrative
work
48. Which of the following are true with regard
to Tipu Sultan ?

[) He sent some emissaries to France,
Turkey and Pegu to develop foreign

trade

Il) Founded Jacobian Club and planted

the Tree of Liberty at Srirangapattana
[I) Attempted to build a navy
IV) He was afraid of the British
Choose the correct answer from the codes
below :
Codes :
(A) I, lTand 1l
(B) I'and Il only
(C) Iland IV only

(D) I, 1land IV

47. grotisos’ somrondord dsi SFeroted
fo of, !
(A) 582 ©e79% (Foh as) eioen 5o
(B) e265°8 J30EH5682%0
(C) Bos, Taye Ko ES s
(D) (o 00D 0T eSS’ 35
48. 3P0 ¥0w0Row S0t DB eIS” 0O
T°IN0 2

) D88 5552 DY SHEAS Tossood

EFEOE (FRay, 0y, PP BTV Do

ll) B50noeer08” S Hnns §550 200 5

)50 (163 55 ded) et
) S5 JomeTAS (OO0
IV) A8 edSmsos garo

208 HOETPOBIVATAO HOAD DBTTE O

JDoBod.

Sedores

(A) 1, 11508050 I
(B) | 506050 Il S0
(C) %0805 IV S0

(D) 1, 11558050 IV
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49. The Subsidiary Alliance was aimed at

50.

l) Protecting the country from the French
Il) Increasing the British revenue

lI) Increasing the British control over the
Indian States

IV) Taking away the powers of the local
rulers

Choose the correct answer from the codes
below :

Codes :

(A) land Il only

(B) Iland Il only

(C) Iland IV only

(D) I, Nland IV

Which of the following is correct with

regard to the bomb attack on Kingsford the
District Judge of Muzzaffarpur ?

[) Prafulla one of the accused committed
suicide

I1) Khudiram Bose the other accused was
hanged

lIl) Satyen Bose and Kania Dutta who
had killed the approver were also
hanged

IV) Aurobindo Ghose was given six
months Rigorous imprisonment in this
case

Choose the correct answer from the codes
given

Codes :

(A) Iland 1V are correct

(B) I, lland Ill are correct

(C) All are correct

(D) All are wrong

49.

50.

LR
355 RS 5058 050
1) oD Sood B7edy Sdotiso
1)) @55@6‘0‘@% [Rleivielalornele)
) grssos Trezmg R QeI dadoes oo
IV) T8 Treve 206 ©QsTed RN ovslle)

208 DOSBOBODWBIAOD DOWOD DI
28 ;790G

Sosoes

(A) 1506050 Il 5@
(B) 11 S08ax 1 57&50
(C) 111558050 IV 57Eo

(D) 1, 111558055 IV

S00e3pbeh e TR0 SofyHb B @RS
27020t 0230500 §od TeIS° DO TS0 ?

1) DoBBE (8B B ety TEITHC
1) 558" DobBag:s oboro &7 &0abaT
ll) &+ S8 wERrHbss Hobd ¥BS F'o

00000 STTYITTR &0 GOS8

V) 55 206" 98I0 PTRE 68> 00§
SPTTTE 3700 DEOWERRE

208 HOETOROBATHOD HOWD
BT BnS ol

Sodores

(A) 11206050 IV 7350
(B) I, H08axs Hwedmres
(C) ed)=0d

(D) &858
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51.

The following statements are connected
with the Government of India Act of 1935

[) The Act introduced Dyarchy at the
Centre

Il) Provincial autonomy was introduced
in the provinces

lIl) The Act established a Federal Court
IV) The Federal part of the Act was put
into practice in 1937

Choose the correct answer from the codes
given below

Codes :

(A) Illand Il are correct

(B) I, lland Il are correct

(©) I, llland IV are correct

(D) All are correct

51. B0 s T 1935 4758 abs 9z

250220000
1) & 50 Sosod” crocs Be0Tn) Eagedod
Il) ooFos® Sxebo BSRS E3Fgndod
) 2eSSE e 0 5830 T T2oBRGE00
IV) 58080 E6S 593 army 1937 &
955000V OTE
BIOD ZS DOETO TO° DO DIFT 00
S0l
(A) 11508050 NIk
(B) I, I1508ax0 HIowsso
(C) 1, 558a% Va5
(D) o755

_ — 52. 3535 — | & 865 — 11350 238298y Q0% 300 oSz
52. Match List — I with List — Il and select the c ;5«250 oS 5ol
correct answer from the codes given below : TEO” ROV SRTGR0 207,00
List— | List— Il i Bgs -l
A. Macdonnell Commission 1. Police A, EEISEWDS 1. S o),Sees
Reforms B. oeh 800e3 2. oepl
B. The Hartog Committee 2. Constitutional 00,90
Reforms
C. (525 s2o8 3. 559
C. Frazer Commission 3. Famine
: o . D. 0508 32058 4. des
D. Simon Commission 4. Education =
Sodores
Codes :
A B D
A B C D ¢
A 3 1 4 2 @ 3 1 4 2
(B) 3 4 1 2 ® 3 4 1 2
© 2 3 1 4 © 2 3 1 4
M 1 4 3 2 1 4 3 2
- 21 A-13-03]




53. Match List — | with List — Il and select the

correct answer from the codes given below :

List —1

British Officials

A. Dufferin 1.

B. George Hamiton 2.

C. Curzon 3.

D. Elgin 4,

Codes :

A 3 2 1
B 2 4 3
C 2 3 4

® 4 3 1

List—1I

Their Statements

“The Congress is

tottering to its fall”

“India was
conquered by
blood by the
sword it shall be

held”

Congress leaders
are “seditious and
double sided”

The  Congress

represents

“Microscopic

Minority”

53. 58— 1D 58 — 1| § 235250 Br00 30y Scdzre

TO° 588 Ry 287,500

8 — |
QSR T ows
A. Céo“%)&s
B. &f ?’J"é’.bgcs
C. %5
D. 295
Sosores

A B
(A) 3 2
(B) 2 4
© 2 3
(D) 4 3

238 —
[N
O (@Feo0ew

1. OB JRcosr
SEBO DY
$OHIH00

2. grSE0T) 558
3o8aYo §F&E°
38000, T
T 8PS oS’
Eaéaeoags $5Oy00

3. ORR TOHEKeD
DE 000 H260T0
{550¢5s 2090 Eld

4. SO0 B0 ee)
QogrgEro PEIR
S Do
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54. Match List —Iwith List —Iland selectthe | 54, wu3x — | &% 5038 9635 — I 2o 230y B
correct answer from the codes given below :

List—1 List—1l

FN DOSTO TO° D00 DRI @ODOC

::gég —1 ::¢§§ -1
A. Bharat Matha 1. Western India
A. gro8oes Sdoreso 1. O“J%Qm 2r8H0

Association
B. Mitramela 2. Culcutta B. Qoo 2. S0t
C. Anusilan Samiti 3. Maharashtra C. eRodod 58 3. oy
D. Abhinava Bharat 4. Madras D. ef554r58 4. DoErRo PRGY
Presidency voderes :
Codes : A B C D
A B C D (A) 2 4 1 3
A) 5 4 1 3 (B) 4 1 2 3
®) 4 1 > 3 © 2 3 4 1
© 2 3 4 1 o 4 3 2 1
(D) 4 3 2 1 55. 5 — 10 85— |1 & 235350y 0% 330 $65Tre
TR0 508 DRI @°e0Cs
55. Match List — I with List — Il and select the
correct answer from the codes given below : g - | sSegg—ll
List — | List — I A. @6?95§§)o35°23§:66(\°@ 1) 1916
A. Separate Electorates 1) 1916 B. Of-srofdesocio 2) 1922
B. League-Congress Pact 2) 1922 C. o g 3) 1935
C. Swaraj Party 3) 1935 D. grodaoo  4) 1919
D. Provincial Autonomy  4) 1919 282G
Codes : Sodores
A B C D A B C D
(A) 3 4 1 2 @» 3 4 1 2
B) 2 1 4 3 B) 2 1 4 3
(C) 4 3 1 2 <© 4 3 1 2
(D) 4 1 2 3 (D) 4 1 2 3
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56.

57.

58.

Arrange the following in the correct
chronological order

[) Rowlatt Act
Il) Avadi Congress Session
lI) Abolishing Partition of Bengal

IV) League-Congress Pact

Codes :
(A) IV, 1L B) IV, I, 1,1
© v, L D) 0L v

Select the correct sequence of events :
[) Formation of Home Rule League

Il) Tilak sentenced to six year’s of
transportation on charges of sedition

lI) Formation of Ghadar Party at San
Francisco

IV) Gandhi’'s Champaran Satyagraha

Codes :
A 1L LIV ) I, 1,1, 1v
© mn v D) I, 1,1, v

Select the correct chronological order :
[) Indian Independence Act
Il) Resignation of Congress Ministry
lI) Simla Conference

IVV) Mountbatten plan

Codes :

(A) 11,111V, |
(B) NI, I, 1,1V
(C) IV, 1,1, 1
(D) 1,1V, 11, 1l

56.

57.

58.

S0 T3 OB EXT0N Be3S° 80850
) S0 Hegren
1) €558 SeoRD S50

) SBore Devesis e

IV) OF - 703D esdyoso

Sodorens
(A) IV, LT (B) IV, I, 1, 1
© v, L (D) uL v

808 B30 IBH E3008° w80
1) Foord OR Gy, L%

Il) Tres(Ese eE)AATM0 A Dt esh Koo
e DT0BE T B

) 75 @URE’E” b S8y, 5%
IV) 708 G3od), H0°8S Segiro

Sodores
(A) 1,11V, I |) 1, 1,1, 1v
© uLn v (D) 1,11, v

SO EBT00ND BE3S® DT 508
1) &8 T80y 9¢0
Il) S°o@R Boo@se TrdTir
lll) &5 S85%%0
V) $53°0eieread He%o
Sodores
(A) 1L, 10,1V, 1
(B) NI 11,1V
(C) IV, 1, 11,1
(D) 1,1V, 11,11
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59.

60.

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R)

Assertion The foundations of the
Swaraj Party were laid in
the Gaya Session of the
Indian National Congress.

Reason During the Gaya Session

C.R. Das and Maotilal
Nehru advocated the entry
of the Legislative Councils
under the 1919 Act which
was opposed by
C. Rajagopalachari and
his supporters.

Select the correct answer from below :
Codes :

(A) Both (A) and (R) are correctand (R) is
the correct explanation of (A)

(B) Both (A) and (R) are correctand (R) is
not the correct explanation of

(C) (A)istrue, but (R) is false
(D) (A) is false, but (R) is true

Assertion : Lala Lajpat Rai died of
police lathi during the
march against Simon
Commission.

Reason Simon Commission did not

consist of even a single
Indian as a member.

Now select your answer according to the
coding scheme given below :

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true and (R) is
not the correct explanation of (A)

(C) (A)istrue, but (R) is false

(D) (A)is false, but (R) is true

59.

60.

BIED 28735 D508’ 2,53 9B)B 50 (A) Bocdd
sSeirso (R)

RGTEe (A) 275 20T SCORD A
D37IFS” ¥gooe G
@(’55385 §o DT Toe
RloN ety

eagirse (R) 1919 o fod

TZBB006OS° (HIT)
.35 D FodAYw
ITBPS DEFTO0 FOXO
RSFIFOS” DPoGou
2. TPesitare T8 K080
95 900N TP
208 T°¢38° BB BodeEdy BrdoBod
Sodore
(A) (A)S08axn (R) Docoder ooidso e (R)
(A) G300E); B HTe3
(B) (A)08ax» (R) Dochdor widso e (R)
(A) & IBR0 D58e? 5°¢
(C) (A) 7350 (R) &5y
(D) (A) &3y (R)=3%0

B0 0B, DeaE’ 2,53 DB)B 50 (A) Bocidd

s5eerso (R)

PBTEE (A) 1 PE0S KIS HFosor
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61.

62.

63.

64.

65.

Who was the author of “What is History” ?
(B) G.R. Elton
(D) E.H. Carr

(A) Karl Marx
(C) Toynbee

Hermeneutics refers to

(A) Internal Criticism

(B) Preliminary Operations

(C) Synthetic Operations

(D) External Criticism

The derivation of historical knowledge by

applying ‘scientific and empirical method’
of enquiry refers to

(A) Christian historiography
(B) Romantic historiography
(C) Positivist historiography
(D) Nationalist historiography

Kalhana’'s Rajatharangini mainly deals
with

(A) History of the Deccan

(B) History of Bengal

(C) History of Kashmir

(D) History of Punjab

The founder editor of Subaltern Studies
series is

(A) Ramachandra Guha

(B) Romila Thapar

(C) Ranajit Guha

(D) Bipan Chandra
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66.

67.

68.

69.

70.

“Sovereignty lies with the people and law
should be the expression of the general
will”. The above statement relates to

(A) Divine Right Theory
(B) Social Contract Theory
(C) Both (A) and (B)

(D) None of the above

The Code of Justinian is part of

(A) Greek Law

(B) Egyptian Law

(C) Roman Law

(D) Babilonian Law

Who among the following was not part of
enlightened despotism ?

(A) Frederich the Great

(B) Catherin the Great

(C) Elizebeth I

(D) Carlosthe lll

The Great Depression started with the

collapse of Stock Market on October 29,
1929 in U.S. which is known as

(A) Black Sunday

(B) Black Monday

(C) Black Tuesday

(D) Black Wednesday

10" December in modern international
history is known as

(A) Worker's Day

(B) U.N. Day

(C) Human Rights Day

(D) Commonwealth Day
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Read the following paragraph and answer the | ;206 DEETTT DO (FHOD ST GrashIN
guestions that follows (Q. No. 71 to 75) :

The new spirit that characterised the Social
Reform Movement at that time was thus
summed up by Pandit Manoharlal Zutshi,
Chairman of he 30" Indian Social
Conference, Lucknow, 1916, “for some years
past a change has been coming over, | will
not say the methods, but the spirit of work of
Social Reform. Earlier Reformers like Raja
Ram Mohan Roy and Vidyansagar were
actuated mainly by the philanthropic motive :
their object was to bring relief to certain
individuals who were suffering under certain
social laws. But with the awakening of
national consciousness under the influence
of western education and western modes of
thought and the formation of new national
ideals, another, and perhaps a stronger
motive, the motive of national efficiency, has
come into play. It is realised that the
disabilities of individuals do not affect those
individuals alone, but their influence goes
much farther and weakens and undermines
the social fabric. We now feel that when we
educate our girls, or allow widows to remarry
or elevate the depressed classes, we are not

only doing justice to them but adding to the

(1854 Sogpg. 71 %006 75)
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efficiency and strength of our society as a
whole. A community which imposes such
disabilities on large sections of its people
and allows justice to be buried under the
sterile accumulations of ancient
superstitions cannot hope to compete in the
race of life, for it mars its efficiency by
preventing them from adding to the
communal strength, and morally weakens its
dominant classes by enfeebling their sense
of social justice and making them callous to
human suffering. | am glad that this national
- as distinct from philanthropic or individual-
point of view is coming more and more into
prominence, for if self- preservation is the law
of nature, society is bound to pay more
attention to the reformer when he makes it
understood that by listening to him it will not
merely be doing justice to individuals but

saving itself from destruction”.

71. What was the phenomenon which Pandit
Manoharlal Zutshi identified ?

(A) Political reform

(B) Economic reform

(C) Social reform

(D) Military reform
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72.

73.

74.

75.

Earlier reformers like Raja Ram Mohan

Roy mainly influenced by

(A) Spiritual motive

(B) Cultural motive

(C) Philanthropic motive

(D) National consciousness

The factor that did not contribute towards
the motive of national efficiency was

(A) Awakening of national consciousness
(B) Western education

(C) Formation of new national ideals

(D) Philanthropic motive

The ill-effects of “ancient superstitions”
refer to all of the following except one

(A) Not educating girls

(B) Not allowing widow re-marriage

(C) Not elevating depressed classes

(D) Providing social justice

What is prominent about ‘National Point
of View' ?

(A) Providing education

(B) Removing superstitions

(C) Strengthening social justice

(D) Society saving itself from destruction
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